Appendix A: Answers to Exercises
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F gt
8 1:1 \ f 0. y { 1 3 f U b { D R i U 3
Zg 2 0 0 -3 -7
2, | =1 8]l +al O | +B310]|+y]| -5 |+6] -6
Ty 0 0 0 1 0
Zg 9 0 0 0 —4
. L7 ) L 0 ) 0 ) B 0 ) 1)

A.4 Chapter 4

1. a)l4 b) —1 ) In(4/27) d)1 e)tan®z )17

2. a)90 b)0 ¢ -5 d) —24 e) —1 f)10

3. 4a) =1/2 b)1,-3 0,23 4 L2-2

4. a) Hint: expand the determinant along the bottom row.

b) Hint: Use the fact stated in (4.19).
c) 2z+4+3y=1

5. A=1/2

h. V=1l

7. Hint: Use Theorem 4.3.

2= g | 4 Ll g o e

8. a) v —9 b) =} c) ] d) y=—1

9. 4,

10. 35 and —35.

1. a) =13 b) -4 ¢ 0 d) -6 e 12 f) -2

A.5 Chapter 5

1.

Inverses exist only for matrices in parts b), d), f), g), i), 1), and m)
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10.

11.
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LI =] 9 01
1
b)[i] d)ﬁ[ 2—1] ”[10]

g 00 0 1 1000
)10 .)1']13 I)OUIO m)0100
9 1o ‘411] 0100 0010

o 1 000 000 1

Yes.

1 d =
d— be g
a be £0, A ad—bc[w(-‘ a]

Lo o0
abc#£0, A =10 ; 0

00 1

SR R URYH e

z=13, y=-—10, and z = —11.
(0 —1 1
Al=10 0 1

1 1 —1

cos B sinjd
—sinf3 cosf

{
A=
“

|, a=a & a0 = a0,

-1
a) Division by zero would occur. b) [ z ] = { g ] + a [ ]

(1.0 0
a) P=|'010
B0 1
(1.0 0 0)
_ 000 1
b) P= 001 0
010 0
1 00 0)
0 a 0 0
D
o P=1f45 0910
000 1)
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